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Language Test / HTST Y¥1&7oT
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SET-C
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13.
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(B) FIfi—<di raredy ®
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(D) TTERdI—-dREd! Tl H
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19.

20.

"TIed AR @ IfTIar g ?
(A) T Y
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(C) s %=

(D) AT
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21. =1 ¥ 3Ny 9of &= W1 B -

22,
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24, f=ifhd & “9iecl” BT TIRART I 8 §

(A) 5E
(B) STele
(C) STafy

(D) aTReR

25. Sl ¥R T BT UAREHE] e T8 §, 98
Teg fe # 9 wifen
(A) faeu
(B) TSI
(C) UTey

(D) g4

26. ‘AN W BT AW e = | ¥ Bifey
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(B) U=
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(D) I
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BifeT :

(A) STTfARIIfcTeRT

(B) SMRTaYfcraT
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(D) JaI T

28. <9 QU 7T vt § 9 dH I8 BT AT

R
(A) i
(B) &a
(C) faarg
(D) g

29, ‘Tgq’ H g W Afkr g ?

(A) Fo

(B) T
(C) =

(D) 3 T
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30. <M fT Y wreal # A g Bl g A gg

Ieq BIfeV -
(A) IrgIEa
(B) SIFTER
(C) srgufed
(D) srgfed

31. 3= Wity d &ra fowre= ud ST

ATHHROT BT TAT Faved fhae faar ?
(A) TIT & TRAT
(B) oot frr=
(C) g g 9=

(D) BRI wdTE fgaal
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fear ?
(A) ST WfRer A1
(B) WETdR y«Te fgad)
(C) B9 g¥re fgadh

(D) faea=Trer yare A
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(A) AYTFHY
(B) 3mayer
(C) e

(D) §51

34, T FWER B A Al oo fhad!

IUEAT B & P
(A) @ WA
(B) fawy srrar
(C) #f gt
(D) L3

35. f=feRaa § @ gafera =8 € 2
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(D) gcwgdqlc:—elccwlwu‘
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(A) Y SiT
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(C) Joemrard it

(D) ¥ R
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37. ARG HAFE BT UL 9 © 7
(A) 9T <4
(B) TR ¥
(C) &R <
(D) =

38. 1 ¥ 9 9 9 Afddeld ofd IR &

ferg uftig & ?
(A) o

(B) frecmfor
(C) Aferm™
(D) <@

39. Nfderet @1 i Bia b fagr 7 war
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(A) 51 97
(B) TR yTe fgaed

(C) AR Fdel AT

(D) 9edR y¥Te fgad)

40. =R o9 a1 & *fa § °?
(A) JfT e
(B) Afd 9
(C) dfer Rrg

(D) o<

41.

42.
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(A) SIAH™T HET
(B) RTETR™T <14

(C) UaTUTRTIOT 51

(D) 9Rd—g gRea—=

ES! dIcll BT UIH HEHhI B
(A) ATdd

(B) wiitg 4o

(C) WRT AR

(D) g war<
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44. A TP YATE G BERFAT H Fol b

45.

46.

47.

it & ?

(A) 12 &°f
(B) 15 &t
(C) 17 |t
(D) 19 &t

A GRS Ui Bl b B dfd W
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(A) Frew=T

(B) Ueerd

(C) o
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(B) HTaci=Ror aHf
(ORGERIEEAESEN

(D) AIEA el Agdal
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48. YRTg Hiaar—

49.

50.
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(D) RT3 I g9+
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e JowhR’ U fobar wam o ?

(A) YW & Ufa

(B) |t &I T drefd @

(C) U=EIF 7 TS

(D) o=
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SET-C

Language Test / HTST Y¥1&7oT

English Language / 34 fl HT8T

Direction (Q. No. 1 to 50) : Each question has four

alternatives out of these four alternative only one

alternative in correct answer. Select the correct one.

1.

Select the correct sentence from the sentences

given below :

(A) Everyone agrees that the Ganga is the
holiest of all the rivers

(B) Everyone agrees that the Ganga is the
holiest of all other rivers

(C) Everyone agrees that the Ganga is holy
of all other rivers

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) Some people have generously contributed
to the welfare fund but they wanted that
there names should not be published

(B) Some people have generously contributed
to the welfare fund but they wanted that
their names should not be published

(C) Some people has generously contributed
to the welfare fund but they wanted that
their names should not be published

(D) None of the above

3.

1

Select the correct sentence from the sentences

given below :

(A) We were happy that the audience
responded well and gave all the speakers
a patiently listening

(B) We were happy that the audience
responded well and gave all the speakers
a patient listening

(C) We were happy that the audience
respond well and gave all the speakers
listening patiently

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) He saw two men, the one was lame and
another was blind

(B) He saw two man, the one was lame and
other was blind

(C) He saw two man, the one was lame and
another blind

(D) He saw two men, the one was lame and

the other was blind

[B-1]



Select the correct sentence from the sentences

given below :

(A) If Rani had worked hard she will have
got the job she desired

(B) If Rani had worked hard she would have
got the job she desired

(C) If Rani has worked hard she would have
got the job she desired

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) As I am suffering from fever since
morning, [ shall not be able to attend the
college duties today

(B) As I have been suffering from fever
since morning. I shall not be able to
attend the college duties today

(C) As I am suffering from fever from
morning. [ will not be able to attend the
college duties today

(D) None of the above

12
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Select the correct sentence from the sentences

given below :

(A) Mohini appealed to the managing
committee that she might be allowed to
join the college

(B) Mohini appealed to the managing
committee that she may be allowed to
join the college

(C) Mohini appealed to the managing
committee that she be allowed to join
the college

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) As soon as the principal entered the
school all the students approached him
and report the matter.

(B) As soon as the principal entered in the
school all the students approached him
and report the matter

(C) As soon as the principal entered the
school all the students approached him
and had reported the matter

(D) None of the above
[ B-1]



10.

Select the correct sentence from the sentences

given below :

(A) He asked me whether I knew who had
stolen my book

(B) He asked the whether I know who had
stolen his book

(C) He asked me whether I know who had
stolen my book

(D) He asked me whether [ know who stolen

his book

Select the correct sentence from the sentences

given below :

(A) The lawyer asked me where had I left
my clothes before taking a dip in holy
river Ganga

(B) The lawyer asked me where I had left
my clothes before taking a dip in holy
river Ganga

(C) The lawyer asks me where has I leave
my clothes before taking a dip in holy
river Ganga

(D) None of the above

13

11.

12.

SET-C

Select the correct sentence from the sentences

given below :

(A) I advised him to work sincerely if you
wanted to succeed

(B) I advice him to work sencerely if he
wanted to success

(C) T adviced him to work sincerely if you
wanted to success

(D) I advised him to work sincerely if he

wanted to succeed

Select the correct sentence from the sentences

given below :

(A) Itbelieved that Manohar Babu was very
rich in the town.

(B) It believed that Manohar Babu is very
rich in the town.

(C) It was believed that Manohar Babu is
very rich in the town.

(D) It was believed that Manohar Babu was

very rich in the town
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13.

14.

Select the correct sentence from the sentences

given below :

(A) The work on project could not take up
as the State Government did not provide
fund

(B) The work on the project could not be
taken up as the State Government did
not provide fund

(C) The work on the project was not take
up as the State Government did not
provide fund

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) While going through the report yesterday
I found several factual mistakes

(B) While going through the report yesterday
I founded several factual mistakes.

(C) While going through the report yesterday
I'had find several factual mistakes

(D) While going through the report yesterday

I had founded several factual mistake

14
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15. Select the correct sentence from the sentences

16.

given below :

(A) He laid unconscious for an hour untill
he was seen by a doctor

(B) He was laid unconscious for a hour until
he was seen by a doctor

(C) He lay unconscious for an hour until he
was seen by a doctor

(D) He layed unconscious for an hour until

he was seen by a doctor

Select the correct sentence from the sentences

given below :

(A) Monika read the message but she cannot
understand it

(B) Monika read the message but she could
not understand it

(C) Monika read the message but she can
not understood it

(D) Monika read the message but she was

not understood it
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17.

18.

Select the corrrect sentence from the

sentences given below :

(A) If a developing country is to become a
developed country it will attract foreign
investors

(B) If a developing country is to become a
developed country it has to attract
foreign investors

(C) If a developing country will become a
developed country it has to attract
foreign investors

(D) None of the above

Select the correct sentence from the sentences

given below :

(A) Your scooter would not have given you
so much trouble if you had maintained
it properly

(B) Your scooter would not have been give
you so much trouble if you had maintain
it properly

(C) Your scooter would not have given you
so much trouble if you had maintain it
proper

(D) None of the above

15

19.

20.

SET-C

Select the correct one :

(A) Parth has been writing that essay for two
hours but he still has not finished

(B) Parth have been writing that essay for
two hours but he still have not finished

(C) Parth has been writing that essay for two
hours but he has not finished yet

(D) Parth has been writing that essay for two

hours but still has not finished yet

Select the correct sentence from the sentences

given below :

(A) The meeting scheduled to be held
between 2 P.M. and 3 P.M. was
postponed suddenly

(B) The meeting scheduled to held between
2 P.M. and 3 P.M. is postponed suddenly

(C) The meeting scheduled to be held
between 2 P.M. to 3 P.M. was postponed
suddenly

(D) None of the above
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21. Select the correct sentence from the sentences

22,

given below :

(A) Thank you for your invitation for lunch
which I am very pleased to accept

(B) Thank you for your invitation to lunch
which I am very pleased to accept

(C) Thank you for your inviting for Lunch

which I was very pleased to accept

(D) None of the above

Select the correct sentence :

(A) Ghanshyam had gone away after I
reached there

(B) Ghanshyam had gone away before I
reached there

(C) Ghanshyam has gone away after I was
reached there

(D) Ghanshyam has gone away before I

reached there

23.

24.

SET-C

Select the correct sentence from the sentences

given below :

(A) Hearing the noise my daughter woke
up

(B) Heard the noise my daughter woke up

(C) Hearing the noise my daughter wake
up

(D) Heard the noise my daughter wake up

Select the correct sentence from the sentences

given below :

(A) Having tying one end of the rope to his bed,

he threw the other end out of the window

(B) Having tied one end of the rope to his bed,

he throw the other end out of the window

(C) Having tied one end of the rope to his bed,

he threw the other end out of the window

(D) None of the above

16
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25. Select synonyms of the word “Blasphemous”

26.

27.

from the words given below :
(A) Betray

(B) Irreligious

(C) Borrow

(D) Invasion

Select synonyms of the word “Flourish” from
the words given below :

(A) Develop

(B) Dearth

(C) Fragile

(D) Depreciate

Select antyonyms of the word “Capacious”
from the words given below :

(A) Naughty

(B) Nuisance

(C) Noble

(D) Narrow

SET-C

28. Select antonyms of the word “Zenith” from

29.

30.

17

the words given below :
(A) Vertex
(B) Climax
(C) Bottom

(D) Optimum

Choose the correct spelt word from the words
given below :

(A) Spritual

(B) Spirituale

(C) Spiritual

(D) Spiritul

Choose the correct spelt word from the words
given below :

(A) Lackadaisical

(B) Lackaidisical

(C) Lackadisicole

(D) Lackadisicle
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31. The Abstract Noun of the word “Modest” is :

32.

33.

(A) Modesti

(B) Modesty

(C) Modest

(D) Morality

Complete the sentence

“Succeed is to success as advise is to ........

(A) Advice

(B) Advised

(C) Adviced

(D) Advose

Select the Adjective form of the noun “Wood”

from following :

(A) Woods

(B) Wooden

(C) Woody

(D) Woodes

SET-C

34. Find out the error part of the following

35.

36.

18

sentence :

A stock of lectures on this topic will be fruitful

(B) ©)

(A)

to the students

(D)

Select the correct sentence from the

following sentences :

(A) Several thesises were presented but none
were good

(B) Several theses were presented but none
were good

(C) Several thesis were presented but none
were good

(D) Several thesis was presented but none

was good

Select the plural form of the sentence—“The
goose is swimming in the pond.” from
following sentences :

(A) The geese is swimming in the pond
(B) The geese are swimming in the pond
(C) The goose swimming in the pond

(D) The geese swimming in the pond
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37. Find the error part of the following sentence :

38.

39.

The Indian team defeated the Australian

(A) (B) ©)
by an inning

(D)

Select the correct sentence from the
following sentences :

(A) Radha met a widow and helped him
(B) Radha met a widow and helped her
(C) Radha met a widower and helped her

(D) Radha met a widows and helped him

Select the correct sentence from the
following sentences :

(A) Mohan’s car is better than Sohan’s

(B) Mohan’s car is better than Sohan

(C) Mohan car is better than Sohan’s

(D) None of these

SET-C

40. Find out the error part of the following

41.

42.

19

sentence :

Every teacher is expected to carry out

(A) (B) ©)

his principal orders

(D)

Select the correct sentence from these

sentences :

(A) A house divided against itselves cannot
stand

(B) A house divided against itself cannot
stand

(C) A house divided against it cannot stand

(D) None of the above

Select correct sentence from following

sentences :

(A) Both girls are bold but this is bolder than
that

(B) Both girls are bold but this is bolder than
those

(C) Both girls are bold but these are bolder
than those

(D) Both girls are bolder but these are bold

than those
[ B-1]



43. Select the correct sentence from following

44.

sentences

(A) The roads of Rambagh are wider than

those of Shashtri Nagar

(B) The roads of Rambagh are wider than

Shastri Nagar

(C) The roads of Rambagh are wide than

Shastri Nagar

(D) The roads of Rambagh are wide than

those of Shashtri Nagar

Select the correct sentence from the

following sentences :

(A) One must not be blind to his own defects

(B) One must not blind to his own defect

(C) One must not be blind to one’s own

defects

(D) One must not blind to one’s own defects

20
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45. Select the correct sentence from the

46.

following sentences :

(A) Anyone can do this if he tries
(B) Anyone can does this if he try
(C) Anyone can do this if he try

(D) Anyone can do this if one’s tries

Select the correct sentence from the

following sentences :

(A) The man who they thought to be a
gentleman is a rogue

(B) The man whom they think be a
gentleman is a rogue

(C) The man who they thought be a
gentleman is a rogue

(D) The man whom they thought to be a

gentleman is a rogue
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47.

48.

Select the correct sentence from the given

sentences :

(A) There is no man who knows these things

(B) There is no man which know these
things

(C) There is no man but knows these things

(D) There is no man who know these things

Select the correct sentence from the sentences

given below :

(A) The Director of Directorate of Higher
Education has given its consent to join
the college

(B) The Director of Directorate of Higher
Education has given his consent to join
the college

(C) The Directors of Directorate of Higher
Education has given it’s consent to join
the college

(D) The Director of Directorate of Higher

Education has give his consent to join

the college
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49. Identify the correct sentence :

50.

(A) Asateacher of English you are far better
than him

(B) Asateacher of English you are far better
than he

(C) Asateacher of English you are far better
then him

(D) Asateacher of English you are far better

then he

Select the correct sentence from given
sentences :

(A) Both the sisters have not passed

(B) Both the sister’s have not passed

(C) Neither sister have passed

(D) Neither sister has passed
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51. Some birds are sitting on two branches A and

52.

SET-C

General Knowledge And Reasoning Items

UM 19 Ud drfeadr

B of a tree. If one bird flies from A to B
branch, the numbers of birds on both
branches will be equal. But, if a bird flies
from B to A branch, then number on A will
thrice that of B. How number of birds was
initially on branch A ?

(A)3

(B) 4

(OS]

(D) 7

If sign + and +, and numbers 2 and 4 are
interchanged, then which of the following is
correct ?

(A)2+4+3=3.0

B)4+2+6=1.5

(C)4+2+3=40

(D) 2+4+6=8.0

22

51. U US &I &l @Rl A 3R B R HB

52.

fIfedl 931 & | afe vsp fAfsar A 91 B @
R ISR ST © Al a1 el R et
DI [T FAM B W 7 | W], IS D
RIfSTT B 9 A 3T WR ISHR 3N T 2,
T9 A I B @ o1 =1 81 I & | URA
A e WRRISIl @1 Hr fhar off ?
(A) 3
(B) 4
© 5

D) 7

Afg g + 3R + T7 WR=AT 2 3R 4 &I
YA H gl ©, A T H B AT HEl
g7

(A)2+4+3=3.0

B)4+2+6=15

(C)4+2+3=40

(D) 2+4+6=8.0
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53. Fill in the blank space :

7,8,17,42,91, ........, 293, 462
(A) 172
(B) 182
(C) 208

(D) 192

54. Find out the pair which is different from

55.

others :

(A) Pen and Pencil
(B) Cycle and Scooter
(C) Kurta and Tailor

(D) Tea and Coffee

IfA=2,B=3,C=4,D =5 and so on, what
does the following number stand for
14,2, 11, 16, 19
(A) MBKOR
(B)NAJOR

(C) MAJOR

(D) None of the above
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53. Rad wI= &1 gfel & -

7,8,17,42,91, ........, 293, 462
(A) 172
(B) 182
(C) 208

(D) 192

54, qERT ¥ BT R @ ST AR
(A) Hed AR URTeT
(B) WTEfihet MR Fepey
(C) Tl IR =il

(D) =1 3R BB

55. 9f¢ A=2,B=3,C=4,D=5 S TR A &
a1 feEferfead Hwar] @ qwid € 7
14,2, 11, 16, 19
(A) MBKOR
(ByNAJOR
(C)MAJOR

(D) SWRIad H BIS 78!
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56. Identify the letter which is the fifth letter to

the right of the letter which stands middle
between the letter J and P :

(A)Q

(B) R

©S

(D) O

57. A man walks 3 meters east and then 3 meter

S8.

south, followed by 3 meters east, 4 meters
north and 6 meters west. How long will he
walk and in what direction to reach his

starting point ?

(A) 1 meter in South
(B) 2 meter in North
(C) 2 meter in East

(D) 1 meter in West

Which of the following pairs is different from
others ?

(A) Bag and Vegetables

(B) Can and Petrol

(C) Bottle and Milk

(D) Ship and Boat

24
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56. J 3R P & 9 ¥ Rerd dqeaver 3eR I g/

IR & UiEd MR Bl fafted oI -
(A)Q
(B) R
© S

(D) O

57. U& 3MGHI 3 HIeR Jd B AR AR $ASD q18

S8.

3 Hiex TR H IR ST &, davand 3
AIeR gd, 4 Wex IR AR 6 AR ultaq &l
3R T © | 3@ S Al URMS fdg R
ugaH & forg fal g0 iR v fomm 4
IS BT ?

(A) 1 #iex gfeor

(B) 2 ¥ier SR

(€) 2 Hex 4d

(D) 1 Hex uf¥gH

ot et & @i ot & faer 8 ?
(A) T IR Heoll
(B) I+ 3IR UgTet
(C) ¥l 3R gy

(D) STETST 3R A1
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59.

60.

If the statement, “Most of the students are
disciplined” is taken as true. Then, carefully
read the four statements given below and
decide which one of the following pair of
statements can be claimed to be true ?
Statements :

1. All disciplined persons are student.

2. All students are disciplined.

3. Some students are disciplined.

4. Some students are not disciplined.
(A) 1and 2
(B) 2 and 3
(C) 3and 4

(D) 2 and 4

If letter A 1s used for 5, B for 6, C for 7, .....
and so on. Then, what will be meaning of
these following numbers ?

22,19,5,8
(A) RODA
(B) ROAD
(C) DOAR

(D) RAOD
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59. I woe “aAfdaier fGemefl srgRiia B

60.

2 B 9 A foran S | A1 = A g
IR HUAI B I F UgH: FRFd B
fo =1 § & e HAT T ST 98
g7

B

1. 9t erenfia safad faemeft €

2. |1 faemeft argenfia €

3. o faemedi srgenfa 2|

4. go faenefl srgenfia w8 €|
(A) 1 3R 2

(B) 2 3R 3

(C) 3 3R 4

(D) 2 3R 4

e eR A & fofg 5,B & forg 6, C & forg
7 YANT BT & SR g9 ke 3, e
HEARIT BT a7 31f BT

22,19,5,8
(A) RODA
(B) ROAD
(C) DOAR

(D) RAOD
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61. If 1* October is Saturday, then 15 November

will be :

(A) Saturday
(B) Sunday
(C) Monday

(D) Tuesday

62. A 25 feet tall pillar casts a shadow that is 5

63.

feet long on the ground. If the pillar is 35
feet tall. Then, how many feet long would
the shadow be ?

(A) 6 feet

(B) 7 feet

(C) 7.5 feet

(D) 8 feet

Six persons A, B, C, D, E and F are standing
in a circle. ‘B’ is between ‘F’ and ‘C’. ‘A’ is
between ‘E’ and ‘D’. ‘F’ is just left of ‘D’.
Who is between ‘A’ and ‘F’ ?

(A) D

(B) C

(C)E

(D) B
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61. IE UF Iracar Bl AMAR &, AT UH TR

62.

63.

BT BN :

(A) TEaR
(B) faar
(C) IMarR

(D) HTeTaR

Uh 25 B o TR B BRI THH TR
5 B gsdl © | Ife WHET 35 Wi ow=T © df
BT B TTs fbad ®ie arfl ?

(A) 6 WIT
(B) 7 wic
(C) 7.5 ®ic

(D) 8 W

: fdd A, B,C, D, E 3R F & qxidR
TA HES 8l F 3R ‘C’ s dad B 5|
‘B3R ‘DS g H A 7D D qRa a-
WE F’ g1 ‘AR F & 99 o= 8 ?
(A) D

(B) C

(C) E

(D) B
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64. Find ou tthe missing number in the following

series :
1,3,7,13,21, ....,43
(A) 28
(B) 29
(©) 30

(D) 31

65. Ajar has bacteria in it. The bacteria multiply

66.

and double on each passing day. The jar fully
filled in 30 days. Then, in how many days
the jar will get half filled ?

(A) 15

(B) 29

(C) 25

(D) 10

Predict the growth rate for the year 2023 from

the data given below :

Year : 20182019(2020({2021{2022 (2023
Growth Rate|1.5 |1.7 |2.1 |29 | 45| ?
(A) 5.8
(B) 6.9
<) 1.7
(D) 9.9
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64. fIfpa ot H fagw S &1 91d

65.

66.

AT
1,3,7,13,21, ..., 43
(A) 28
(B) 29
(C) 30

(D) 31

TP SR H Siar] 8 | Siar] & foe fgayim
8 QN B o 2 WR 30 faq # g¥
TR O & | 99 el oR fhaa fai #
AT ?
(A) 15
(B) 29
(C) 25

(D) 10

A1 T U 3fiHN B MR W 99 2023 B
e gv B gfasggol)y BT -

qy ; 2018 {2019{2020]2021(2022 |2023
fdprg av |15 1.7 (2.1 |29 |45 | ?
(A) 5.8
(B) 6.9
<) 1.7
(D) 9.9
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67. If X,Y and Z are the sides of a triangle, then
which of the following is correct ?
(A) X+Y)=2Z
B)X+Y)>Z
O X+Y)<Z

(D) (X+Y)<Z

68. Find odd one of the following :
(A) Sea Horse
(B) Dog Fish
(C) Elephant Fish

(D) Silver Fish

69. Which is the opposite of North-West ?
(A) East-West
(B) South-East
(C) North-East

(D) South-West

28
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67. IfT X, Y 3R Z v B3 & o] & ar

frforRad # @ar |dr 2 2
(A) (X+Y)=2Z
(B) (X+Y)>Z
(C) (X+Y)<Z

(D) (X+Y)<Z

68. fa=ifed & f=1 &1 =i1d PHIfSU -

(A) 31 fooer
(B) ST fooer
(C) tferhe et

(D) freer fiser

69. STR—URTH & famid w7 8 ?

(A) gd—ufdaw
(B) <feror—qd
(C) STR—d

(D) Tferor—ufeem

[ B-1]



70. If 8514 stands for ‘HEAD’, then what will
251695 stand for ?

(A) BEAFIE

(B) DEAFIE

(C) BEAFFI

(D) DEAFFI

Direction : Question no. 71 to 75 are based on
following statements.

“Six members of a family A, B, C, D, E and F are
travelling together. B is the son of C, but C is not the
mother of B. A and C are married couple. E is brother

of C. D is daughter of A and F is the brother of B.”

71. How many male members are there in the
family ?
(A) 1
(B) 2
<3

(D) 4

29
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70. Ife 8514 & UM W ‘HEAD’ B, a1 251695

& RIF W RAT AT ?
(A) BEAFIE
(B) DEAFIE
(C) BEAFFI

(D) DEAFFI

fader : (e 9T 71 9 75) 9 @A B
UgHY gl D SN N
A,B,C,D,E3R F U URIR & & ¥ T
AT AHT R | 2| B,C &1 YF &, dfdd C, B
BT AT A8 81 A R C ufg—ufq €1 E, C &1
S 81 D,A & G R 9T F, B &7 4TS ¥ |

71. IRAR # fhas o9 9w § ?
(A) 1
(B) 2
© 3

(D) 4
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72. How many children are in family ?
(A) One
(B) Two
(C) Three

(D) Four

73. Who is wife of E ?
(A)D
(B) A
O F
(D) Can not say on the basis of given

information.

74. Which of the following is a pair of females ?
(A) Band D
(B) Aand D
(C) Aand E

(D) Dand F

30
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72. URAR ¥ fddw = € ?

(A) T&
(B) =1
(C) A=

(D) AR

73. E @I Ul I & ?
(A) D
(B) A
(C) F
(D) & g FIT & R R Y 8] b8

JHhd B

74. fr=ifea # Afkee &1 ST b A § ?
(A) B 3R D
(B) A 3R D
(C) A 3R E

(D) D 3R F
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75. How is E related to D ?
(A) Asuncle
(B) As father
(C) As brother

(D) Can not determined

76. Which number represents those secular
philosophers who are not leaders in the

following figure ?

A Philosopher
96

v Leader

Secular

A) 1
(B) 2
©)3

(D) 4

77. Which number will come in blank space of

the figure ?

(A) 50

(B) 45 35 40
30 9

(C) 55

(D) 20
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75. E 59 R D 9 9wfed © ?

(A) I & WU H
(B) fudr & wU #
(C) wiE & ®U H
(D) FeriRa =121 favar ST Adar

76. HIF Il WRYT 9 GI—RUET STADI BT
gfafafea axal 8, S 971 F8l © ?

Secular
A Philosopher
(o)
v Leader
(A) 1
B) 2
©)3
(D) 4

77. a9 # Rog wma w® w9 1 9=a7

IR

(A) 50

35 40
(B) 45

30 ?
(C) 55
(D) 20
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78. Find the missing number in the following
figures :

5/\3 7
SN /N /N
4

5 3

(A) 16
(B) 35
(C) 45

(D) 25

79. Which number will come in place of question

mark :

27\( 54 45\'/ 90 24\( 48
9 15 ?

(A) 6
(B) 7
(©) 8

(D) 9

SET-C

78. 1 o H faq@ = = S ¢

5 3 7 5 6 7
19 40
4 5 3

(A) 16

(B) 35

(C) 45

(D) 25

79. Y3 foe & WIH UR BIT W G T ?

27\( 54 45\( 90 24\( 48
9 15 ?

(A) 6

B) 7

©) 8

D) 9
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80. Pick up one figure from the answer figures

81.

which completes the series of problem

figures :

Problem Figure

H (H> [ (b | 7
Answer Figure

1 2 3 4
(A) 1

(B) 2

©) 3
(D) 4

Which does not goes with others ?

(A) Grape

(B) Mango

(C) Banana

(D) Orange
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80. SN o W U o BT aIT B S JHT

81.

form @1 gt o

e o=

HH |H [H> | | 2
IR =

1 2 3 4
A) 1

(B) 2

©) 3

(D) 4

I AT T b 1 8! ordl & ?

(A) 3R
(B) tmH
(C) Dol

(D) FaxT
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82. A man has 31 flowers. He offers one flower

in first temple. In second temple he offers
flowers double that of in first. In third temple
double that of in second. So on, in how many
maximum temples he can offers flowers ?
(A) 7

(B) 6

©)5

(D) 4

83. If today is Wednesday, what will be the day

25 days after next Sunday ?
(A) Thursday

(B) Friday

(C) Saturday

(D) Sunday

34
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82. U® Afdd & UNT 31 o & | 98 Ugol AfQR #

TH g Fal Bl R AfeR # ugd W

ST TFeTT & | RN HieR A R A <R |

9 UbR I8 fbd- affead |fa’i § gu
EEIE RN

(A) 7

(B) 6

<5

(D) 4

83. IS I gEaR g, ol 37Tl MIR & 4«1

259 f&=1 @i 41 & 8rm ?
(A) TXaR
(B) gharR
(C) IR

(D) fdar
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84. The average age of 30 students is 12 years.

8s.

86.

If the age of their teacher is also included,
then average age increases by one year. What
is the teacher’s age ?

(A) 33

(B) 43

(C) 53

(D) 63

45 are 5 percent of which of the following ?
(A) 600
(B) 700
(C) 800

(D) 900

Choose the correct letter which is prefixed
to the following words, then they form new
words :

all, rack, rib, over

(A) C

(B) A

(©)D

(D) 1
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84. 30 faenfofat v oftwa ey 12 o 2| Il

SIS U e DI Y W1 ARl B
o @ Sd My Udh a¥ 9 WIdT © |
S BT I FT © 2

(A) 33

(B) 43

(C) 53

(D) 63

85. fa=ifeed & 45 fbgar 5 ufoeg € ?

86.

(A) 600
(B) 700
(C) 800

(D) 900

U e JeR BT gArg difory o e
9feql & YR H o & df 9 9V 9reg g1
2

all, rack, rib, over
(A) C
(B) A
© D

(D) 1
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87. If ‘OQNEDRRNQ’ is a code for

‘PROFESSOR’, then ‘SDZBGDQ’ is a code

for:

(A) TAECHAR
(B) TIECHER

(C) TEACHER

(D) None of the above

88. The good citizen is one who is :
(A) Politically and socially well informed
(B) Aware of his social obligation

(C) Well behaved

(D) Knowledgeable about the constitution

89. Gram is to kilogram, what millimeter is to :
(A) Decimeter
(B) Centimeter
(C) Kilometer

(D) Meter
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87. afe  ‘OQNEDRRNQ’ &1 &I

‘PROFESSOR’ &, @l ‘SDZBGDQ’ &T ®le
2

(A) TAECHAR

(B) TIECHER

(C) TEACHER

(D) SWRIad H BIS 78!

88. U®H 30l ANTR® a8 & Sif b :
(A) IIoHfa® 3R AMITS S T §
(B) 31U IS 1 @ Ui ST &
(C) Rre 2

(D) Jfde & IR H 9 /G &

89. UM & forg fhewm, a feirier & for
(A) SHHIER
(B) JcHeR
(C) frarier

(D) #ex
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90.

91.

92.

If,2x7=7,8+6=7and 28 +2=7
then, 14 —-7=7

(A) 7

(B) 6

(©) 3.5

(D) 3

There are Monkeys and Pigeons in a zoo. If
the heads of both of them are counted, then
it is 90. But the legs are 220. What is the
number of Pigeons in zoo ?

(A) 64

(B) 66

(C) 68

(D) 70

In a code language ‘RAMA’ is written as
‘5898’ and ‘SITA’ is written as ‘7638’. Then
‘SIMA’ will be written as :

(A) 9876

(B) 7698

(C) 7689

(D) 9867
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90. IfT, 2x7=7,8+6=7 3R 28+2=7

q9 14-7=7

(A) 7

(B) 6

(C) 3.5

(D) 3

91. TP Fafeamer § {8 9 Td daR B | IS

SF & R A €, a1 98 90 & | R R
B AT 220 B FARSITOR H BRI B
AT T © 7

(A) 64

(B) 66

(C) 68

(D) 70

92. Jdhd 9T § ‘RAMA’ &l <5898’ forwd B

qAT ‘SITA’ Bl 7638 forrd & | d9 ‘SIMA’
BT foreT -

(A) 9876

(B) 7698

(C) 7689

(D) 9867
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93. Fill in the blank :

9.

9s.

9,10, 12,15, ....... , 24
(A) 17
(B) 18
(©) 19

(D) 20

Select from the following which does not
belongs to the group :

(A) Water

(B) Gasoline

(C) Wind

(D) Rock

If BAT = 69 and BOOK = 129, then PEN =?

(A) 100

(B) 98

(C) 105

(D) 89
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93. R wIH &1 i N

9,10, 12,15, ....... , 24
(A) 17
(B) 18
(©) 19

(D) 20

SET-C

94. 71 ¥ ¥ TP BT oI X Sl T A el

RSN
(A) T
(B) frei=
(C) &ar

(D) TR

95. Ife BAT = 69 3k BOOK = 129, then

PEN=?
(A) 100
(B) 98

(C) 105

(D) 89
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96. Swatiranks 15%1n a class of 45 students. What

is her position in class from the bottom ?
(A) 300
(B) 31+
(C) 32

(D) 33t

97. In certain code language PHONE is coded

as QIPOF. How will the word EMAIL be
written in that code language ?

(A) FNBIM

(B) FNBJN

(C) FNJBM

(D) FNJBN

98. Pick out the odd one from the following :

(A) Lucknow
(B) Patna
(C) Bhopal

(D) Nainital
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96. 45 faemfeia &1 P ° g &1 15aT Y=

2| Be H A A IHBT AT W 7 7
(A) 30at
(B) 314t
(C) 32ai

(D) 334

97. U R¥Fd ®Ie 99T §# PHONE &I QIPOF

foraT ST € | EMAIL &1 39 IS 9T o
&9 forgfwr ?
(A) FNBIM
(B) FNBIN
(C) FNJBM

(D) FNJBN

98. =1 # fawq @1 g -

(A) TETS
(B) UeAT
(C) ¥t

(D) A-iaret
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99. Ramesh walks 5 km in North direction and

then he turns left and goes 3 km. He again
turns left and goes 2 km. After that he turns
right and walks straight. In which direction
is he walking now ?

(A) East

(B) West

(C) North

(D) South

100. Pick out odd one from the following :

(A) Oxford
(B) Cambridge
(C) Nalanda

(D) Ajanta
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99, IHY SN ST # 5 fhd TaT & 3R I9 I

SR 3 fHHAl STl & | 98 g 9 SR 2
R4l STl © | 39 918 98 <R godl © 3R
Al Fefdr 2| o/ g8 b faw d = <@
g7

(A) T

(B) uf¥gH

(C) ST

(D) <feror

100. =1 3 & 99T BT gAY

(A) IMFAHIS
(B) dftgst
(C) TeiaT

(D) 3rsfar
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SET-C

Teaching Aptitude
Rieror—arfg

There are total fifty (50) questions related to
teaching aptitude, from Question No. 101 to 150,
each has four responses/alternatives out of which
only one response is correct, select that and mark
accordingly.

101. To maintain the interest of students in the
topic, a teacher must do following activity
during his teaching :

(A) Interaction

(B) Lecture method

(C) Write on black board only
(D) Keep silence

102. Which teaching approach from the following

is based on the belief that “The teacher knows

everything that a learner is required to know” :

(A) Constructive Approach

(B) Teacher Centred Approach

(C) Subject Centred Approach

(D) Learner Centred Approach

41

geq =T 101 | 150 Tb Hd g4 (50) U
fRreror rfdghy & wwfd €, gdd U & IR
P WU H IR by Ay 1y & RS9 9 daa
U fdbey el IR 2| 99 wifey iR fafed
P |

101. &0 & 99Y Ure H ©ET & ®fd g0

R 8 Retd &l e fpar e
ElENE
N SHER
(B) == fafer
(C) TMUCT W dad o+
(D) |19 &
102. =1 9§ 1 I <1 fRieror gfiespior 59 fazara
R IR & fb “Rieth a8 q9 Ho Sl
g o1 Rremeft &7 S+ 31 srawaedar € ¢
(A) HRFTETET / FAHTorard] gfteamro
(B) Rietes sfvad giicaior
(C) fawa df~sa gieamro
(D) Rremeff wfvad giicamior

[B-1]


mailto:lajpukoknh@fuekZ.koknh

SET-C

103. The meaning of Humanitarian Environment 103. @& H AMAT arqrEaRl §99 W IR ©
in class is that : fd
(A) To establish humanitarian relationship (A) BTAT @ T AT gl DI
with students ATYAT
(B) To assign more homework (B) 3ferdH TE?FI'CT ol
(C) More emphasis on cramming (C) e WR 31t da1 o A
(D) None of the above (D) SWRIFd | | BIs &l
104. Which of the following does not affect the 104. =71 H | D19 A1 HRb Feal H geD &
development of attitude among students : fawra &1 gwifaa =81 &Rar ¢
(A) Home (A) T8
(B) Peer Group (B) S¥&& Al BT Tz
(C) National Institutions (C) I eI
(D) School (D) faeme™
105. A true teacher is who ........... 105. U& ardfde e 98 8 S ...
(A) Free from compulsions of the society (A) AT BT qreadmsi | SCN al
(B) Created teacher association (B) foree Rietw—w &1 w07 fhar &
(C) is orthodox (C) wfearar &
(D) irresponsible (D) STRER 9 &

42
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106. If a student is not able to answer a question

during your teaching, then you will :
(A) Insult him
(B) Tell him the correct answer

(C) Try to understand why that student was

not able to answer

(D) Advice the student to study hard

107. You like teaching profession because :

(A) In presence of a teacher children do not
remain naughty

(B) Your parents had told you that teaching
is a dignified profession

(C) You have an interest in teaching

(D) None of these

108. One of the measures of making class teaching

more effective is :
(A) Assign homework in excess
(B) Give tutorials after the class teaching

(C) Ask questions related to the topic taught

in class

(D) None of the above
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106. IS 3MUs T & THI B BT AUD

Ueq PI IR 9 < UIY T 37 :

(A) SHBT JTHT BRI

(B) SH W& SR qqmid

(C) I8 FFeM &1 JI™ H3 {6 98 81
WE IR o H g |l TSI o

(D) B &I 3R eIH IR A eI T
SEICEL]

107. 39 fRre107 Fqar Bl gg-< HYd 2 Rifd :

(A) ATYH BT SIRART H g AT T8l
Gl

(B) 3MUd AT = 3mud! gar & b
3117 Uep wHIRIG WIaE 2

(C) 3y e # wfg w@d &
(D) 379 9 ®1g el

108. HeTT TT BT 3R 3Aferd YHTITel 917 BT

TH I ¥
(A) 8B Af® <

(B) e e & IWid TYSIRIA <

(C) B&T H UYGIY T YBR[ W FH=rd g3+
£

(D) SWRIFd H | Pl e
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109. By which characteristic of a teacher the
students are generally impressed ?
(A) His/her introvert personality
(B) His/her high moral character
(C) His/her relations with principal
(D) His/her relations with managing

committee

110. The best way to encourage a teacher who

works with complete dedication is to

(A) Give him/her a prize
(B) Condemn his/her work
(C) His/her salary withholding

(D) Praise his/her work from time to time

111. Being a teacher, you would :
(A) Listen the personal problem of a
particular child only
(B) Listen the problems of students
(C) Never listen the problems of students

(D) Will threaten the students
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109. et & b 0T ¥ AT BTF THTIAd

8 O & ?

(A) 39S Il Afdad |

(B) S9& S@d Afad alRda |
(C) SHd TR & A1 Fr=l A

(D) v Afafa 9 SHd FH=Il |

110. 530 FSEE Rrerd &1 grednfed & @l
Jafaw fafer 2
(A) S IFHR Y™ HIFIY
(B) S9® &1 &I <1 Ix®

(C) SD da Bl B

(D) FHI—THI R IS B DI URNT HRAT

111. U%h 3{TYdH B & AT 37 -

(A) ®aa Th fal¥re dred & fdard
AT BT Gl

(B) BTAI & AARIRA BT Gl

(C) BTAI &I TR Bl q&T Gl
(D) Bl &I gHHT &I
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112. Some students quietly run away from the

113.

114.

school. In order to check this behaviour of

those students, you would :

(A) Try to know the reason why do they run
away from the school

(B) Punish those students

(C) Will not permit to enter the school in
future

(D) None of the above

A superior teacher is one who :

(A) Gives leadership to his students

(B) Takes interest in the all around
development of students

(C) Strictly follows the discipline

(D) All of the above

More indiscipline usually prevails in the

class-room if :

(A) The teacher taught ratio is not proper

(B) There is not enough work to keep
children busy

(C) The teacher is unable to make classroom
teaching interesting enough

(D) None of the above
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112. B BF gud & f[dere™ 9§ 90 S 2 |

UH BT & FAER Bl Abd B foIU Y
P

(A) A A F I AR A 8 59D BRI
DI A BT YA YA

(B) S Bl &I T8 <3

(C) wiasy # faerer™d H I & AR T8l
Al

(D) SWRIFd H | Pl el

113. U SH 31eTT9h I8 © Sl

(A) 39 BHEI BT IJd UG Bl ©

(B) B ® waifior fdesg § wfa ofdr
g

(C) SR &1 HoRATl H UTel HRAT &

(D) STRIGd Tl

114. FeT el | ANH AL U a4

hodl & o ¢

(A) Rrerm—fRrenedt &1 e Sfua =g ®

(B) =@l T SR @ 7] 9IT BT gl
g

(C) TR1ere werm det Rieor & gaid wy |

Ah g H AH 2

(D) SWRIFd H | Pl e
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115. If a student has asked you a question and you

don’t know the answer then what would you

do ?

(A) You will give scolding that student

(B) Ignore his question

(C) Tell him that his question is out-of-
context

(D) You will assure the student that you
would find the correct answer of that
question and will tell him about the same

on next day

116. A teacher must know the names of his

117.

students, so that ........

(A) The relationship of the teacher with his
students will be consolidated

(B) Students will avoid mischievous behaviour

(C) Students will be disciplined

(D) All of the above

The teacher should reach school in time so

that :

(A) The students will learn the lesson of
punctuality

(B) The students may loose their confidence

(C) The students may not trust upon that
teacher

(D) None of the above
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115. Y% BTF 9 SUH UdH YT Y8l IR

MU BT SR Aol A dd T T
P ?
(A) 3T 39 BTF Bl I(C oIl

(B) SH® UTH BT IUET B oI

(C) STH ®el & SFBT U T & d1ex

BT B

(D) 39 BT P LA <3 fh 9 weA
BT el SR Udl HR B 3Tl e S
AT

116. T 3Th &1 U9 B&E & F o9 8+

=iy, fTaH

(A) RieTh & U BTA & A1 A g3
&l S

(B) B IETSATY] FAqER B IJULT H¥l

(C) BT Irenfid &

(D) STRIGd Tl

117. et &1 999 R Jemery uga @ney

SESRSEE
(A) BTF AT & 416 AR
(B) BTF 3[UAT ATATITarT @l HAdhd &

(C) B 3 Rt w fava &1 &<
Jbd

(D) SWRIGd H | Pl e
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118. The inspection of school must be organized

time to time because :

(A) On this occasion attention is not given
on students

(B) An artificial atmosphere is created in the
school

(C) Teachers get an opportunity to have
discussions with senior officers of
education department

(D) None of the above

119. The meaning of child-centred teaching is :

(A) Taking care of needs of a child
(B) Let the child do whatever he wants to

do
(C) Let the child play

(D) Give free education to every child

120. If a student uses indecent language in the

class-room, then the possible reason for such

behaviour of that student may be as ..........

(A) The same language is used at his home

(B) The some language is used in his
neighbourhood

(C) Responses “A” and “B” both are correct

(D) Neither response “A” nor “B” is correct
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118. e &1 fAReTor I —a9y o fhar S=r

MY FIfD -
(A) 3 TR R BIAT R &9 el fadr Srar

(B) fdemera # o™ IRy IR fban

ST

(C) Rt &1 RET favrT & aRs sifdawRar
Y fIaR—faael &1 3gER Ui B8 ST
g

(D) SWRIFd H | Pl el

119. Irad—pf-ad efor &7 371 B -

120.

(A) 91D DI JAMTTIHAR BT T ]
(B) ST 91t @Tedl & SS9 98 dH_ faar

Y

(C) 91edd BT Wead faar Sy
(D) Y% dTd1dh BT Mo R <1 SY

A PIg BT BT HeE H 39S 9T BT YART

HRAT & dl 99 B P 59 JdgR BT TR

HROT B ABAT T ..o

(A) SHD TR TR F&I HHT YANT BT ST &

(B) 99 rs—Usid H TEI 9T YT Bl
SIS

(C) STR “A” Td “B” <+l W&l &

(D) 71 A1 SR “A” 3R 7 &1 IR “B” Wal &
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121. If a teacher condemns any student in the class

then it may cause :

(A) All the students of that class will praise
the courage of that teacher

(B) The student in question will feel insulted
and discouraged

(C) The student may be praised or
condemned by teacher any time

(D) None of the above

122. If a student comes to the class wearing

123.

unironed and dirty uniform then you will :

(A) Not let him sit in class

(B) Make fun of him in the class

(C) Ignore him

(D) Tell him politely that it is not good habit
to come the class in dirty and unironed

uniform

For better learning the environment of the
class must be :

(A) Democratic

(B) Autocratic

(C) Authoritative

(D) Boring
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HefT | Al © dl §D BRI
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% AT DI YT B

(B) UTRTd BT 3MUAT YA AT Ud

gdicaTad I

(C) Frer® &1 1 B & 9T a1 Ui
PR DT
(D) SWRIFd H | Pl e

122. IS v BTF 941 U fdhy gU v T Torder
BT U B PHell H AT ® 9 7Y
(A) S el § da1 81 <

(B) TeTT H SHPBT SUSN FSIGH

(C) IFDT JUET HI|
(D) S FHAT & A1 qTeH b Per # fa=r
U9 & UG < TOTGeT Bl U8 B 3T

I 3Ted el B
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SET-C
124. For a student the role of a teacher must be as 124. T BTA %@ et @1 Hﬁ?ﬂ BRI

(A) fazrwer /SareE aafad

(A) Resource-Person

(B) wer—yaeis
(B) Mentor
(C) Friend (C)
(D) All of the above (D) STRIGd T

125. Which one of the following characteristics 125. &M @eT ¥ g TRARRRY @ gRT BE A

is developed among students by organizing

= 9 9 5 faeryar &1 faera fear sirar

group activities in classroom : 2.

(A) The spirit of leadership

(A) T BT AT
(B) Indiscipline

(B) SrgemTEra
(C) Non-cooperation (C) T
(D) Selfish (D) e

126. In primary schools the operation black board 126. TTfie Remert 3§ emqveE <Sads” @1

is related to :

[ T
(A) Supplying the basic facilities (A) ST GRETST BT Suerer axr §
(B) Raise the standards of education (B) Riem & W=t &1 Som™ ?ﬂ

(C) Give mid-day meal to students

(C) BTAI BT AT WIoT SURT TR A

(D) Training of teachers (D) Rreral & yfdemor |
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127. If a teacher has ineffective skill of

communication then which of the following

problems may take place in classroom :

(A) Indiscipline in the class

(B) Decline interest among pupils in the
class

(C) Increase in the number of absentees

(D) All of the above

128. Being a teacher will you create a feeling of

129.

fear among your students ?

(A) Yes, because discipline can’t be ensured
without fear

(B) Yes, because students can’t learn
without fear

(C) No this will decrease the creativity
among students

(D) No, because a criminal case may be

lodged against you

If a debate competition is going to be

organized in your school and your students

want to participate then you will :

(A) Write their speech

(B) Dictate them their speeches

(C) Provide them some text books and study
material for preparing their speech

(D) None of the above

50

SET-C

127. Ife fHd et &1 TR IT TWYT BT

yqge & O T § 9 e O 9un

ST~ B ghdl 2 :

(A) FET H STRTRITRIAT

(B) FeTT H B § ®fd # HH
(C) uRerd BTAI &1 AT # gig
(D) STRIGd T

128. U IJGTIP BIF & A0 AT 3T 79 BT

129.

¥y &1 99 A e ?

(A) BT, I 97 & 94T rqemas gHfaa
8l fhar S Fehdr

(B) &, Fifd foa1 wa & BE ARG T8
Add

(C) 7TE1, S99 BTFl H @ATHAGAT BH BRI

(D) =T&l, Fifdh MUD [Ivg JIWIEH ars

o HRAT S Fhdl &

e faened d e are—fdare gfaaiiran

AT B S dTell & Td SH 3D BT

HIT oFT A1 © dl 379

(A) SHBT AT fordT

(B) S9% 9T Gl forear <

(C) ITd {1 BT TIR B B I UIGT—
T g eI AT IS BRI QI

(D) SWRIGd H | Pl e
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130. How can we inculcate the self discipline
among our students :
(A) By keeping them under strict code of
conduct
(B) By punishing them time to time
(C) By providing information to them
regarding the teachers of the school

(D) By giving them the responsibilities

131. The least connected characteristic with a
teacher is :
(A) Effective communication skill
(B) Mastery over the subject matter
(C) Politically active

(D) Good interaction with students

132. The most important quality of a teacher is :
(A) Impatience
(B) Introvert Personality
(C) Arrogant

(D) Confident
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130. B9 3109 BHEI H WRATIAHT DU [AHRId

PR Ahd ©
(A) S HOR MR ARdT § g R
(B) ITI—HYI R I Gfoed o) &

(C) Remem & Rigsl & Avg d g

SEEZREXINCA

(D) S° SARGIIEl BT AT

131.U% 3edd | JAdd Grferd el

g

(A) THTERTell HaR BIeTe
(B) Teaa¥y W Afera

(C) IoHIf® w9 | Afshadr

(D) B & AT SIH 3o

132. U% IRAUS BT RIS Agdgol I[oT 7 -

(A) IEIRaAr
(B) =dT =fdae
(C) A=Y BT

(D) THAZTIRT BT
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133. What ever the child learns in his family and
community is known as :
(A) Formal Education
(B) Informal Education
(C) Structured Education

(D) School Education

134. The teacher must ask the questions :
(A) To whole class/All students
(B) To a particular student
(C) To front benchers only

(D) To back benchers only

135. Mal adjustment in children is :
(A) A result of motivation
(B) A result of frustration
(C) A result of hard working

(D) None of the above

SET-C

133. U&h d1cTd Sl BB AU URIR H IT Y&
# HEar 2, 9 @Ed ©
(A) 3iroeRa et
(B) Mm=Ra et
(C) w=fera fRrem

(D) faemerdT fRrer

134. U U109 Pl U oI ALY :
(A) F¥0l FelT | /|91 BT A

(B) t& fafdre s 9

(C) Dad 3T §8 dTel BET A

(D) ®deT 4B 984 darel BHE A

135. STeIdl H UFAMIISTT &I TARAT BT ©
(A) 3IFIURTT & TRUH sy
(B) ¥HERN & URUIH sy
(C) 3R URsM & URIM awy

(D) SWRIFd H | Pl e
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136. Motivation is a :

(A) Natural state
(B) Physical state
(C) Psychological state

(D) None of the above

137. A teacher must have following attitude

towards weak students in classroom :
(A) Full of ignorance

(B) Harsh and autocratic

(C) Sympathetic and friendly

(D) None of the above

138. Which statement is not correct in relation to

teaching :

(A) There is a feeling in teaching that some
one learns something

(B) The characteristic of teaching is that
there is a relationship between teacher
and Taughter

(C) Teaching is an essential condition of
Education but not sufficient or complete

(D) Children learn compulsorily as a result

of teaching
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(A) Ui 3rael
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137. e H HAGIR BET ® Ufd UH AeTqD BT

SfReHIT AT BFT A1 -
(A) qoTer: SrTferar gof

(B) BSR Td FPRepramard
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(D) SwRIad # A B T
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DU e TE ©

(A) e H g 9raer fAfea g § fF
D HY 7 (Y AEd & 7
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g
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SET-C
139. U Uil Rreror § aftqferg g dar g ¢

139. An effective teaching includes :

(A) Only teacher is active (A) Dad et forarefia grar @

(B) Only students are active (B) ®adt B foharelia 8d &

(C) Both teacher and students are active

(C) 31=0Y% TG B I fharefiel 810 &

(D) None of the above (D) SWRIFd | F BIs &l

140. The benefit of assigning regular home work

140. faenar o1 T $u 9 I8 Bl o Bl

to the students is : RIGECDIE

(A) Formation of habit of self studies (A) W BT 3MMEd STef

(B) To inform the parents of students about (B) faenfeiat & Ara—fudr &1 S9a sreua+

their studies

& fawg | R ST

(C) To decrease the work load of teachers

(C) freTdi & BRI & qIST B HH HRAT

(D) None of the above (D) SWRIFd | | BIs &l

141. The purpose to ask the question by a teacher 141. Bem 4 fetd §RT UeH UBA & Iy

in the class is : -

(A) To maintain discipline
(B) To show his own intelligence
(C) To seek the attention of students

(D) None of the above
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142. In a autocratic teaching :
(A) Only students are active
(B) Only teacher is active
(C) Neither students nor teacher is active

(D) None of the above

143. Which word of the following refers the
science and art of teaching ?
(A) Adult Education
(B) Sociology
(C) Psychology
(D) Pedagogy
144. Which word of the following has most
comprehensive meaning :
(A) Aims
(B) Objectives
(C) Specific objectives

(D) Instructional objectives

SET-C
142. gqcaarar fRreqor 4 -

(A) DI BT AlhT B &
(B) dadt et Afsha vgdr ©
(C) 9 B3 Td 9 8 s afhg BT &

(D) SWRIFd H | Pl el

143. 791 5§ & @19 91 s RMer & Far g
e &1 F<fid oxar & ?
(A) dre—f2rem
(B) A fag=
(C) wIfasm

(D) fRreror o (Ut

144, 9791 5 4 DI A W& BT FalRID ATqD 2]
g
(A) &g
(B) Se¥a
(C) fadre Sewa

(D) SFRIFETHS 32
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SET-C

145. An effective Teaching-Learning process must 145. Ueh GHTaeITel fREToT—3TfERTH Ufehar T =F=1cH
be least correlated with : T BT A1
(A) Cramming (A) e 9
(B) Learning by doing (B) &R ARG
(C) Discussion (C) are—fdare

(D) Problem solving (D) 91 \FHEmT

146. The meaning of teaching aptitude is : 146. f3eror—arfye ar 9 9y 2
(A) Dedication towards teaching (A) Rreror & ufa gador
(B) Deep desire to give knowledge to students (B) B &I 39 T @I dig ST

(C) To have capacity to teach (C) TRrerur &1 emar g

(D) All of the above (D) SR 4T

147. A democratic teaching is : 147. T AThdifrd e © :
(A) Teacher-centred (A) TR Bivad
(B) Student-centred (B) B &f~ad
(C) Principal-centred (C) yuTard dfegd
(D) Manager-centred (D) Uegd Hivad
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148. A Lecture can be used to provide :
(A) Factual Information
(B) Brief description at higher level
(C) To explain theoritically

(D) All of the above

149. At the time of writing on black board a

teacher must keep in his mind :
(A) Good writing

(B) Clear formation of words
(C) Sketching of clear picture

(D) All of the above

150. During lesson teaching a teacher must focus

on:

(A) Student

(B) Principal
(C) Himself

(D) Manager of School
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(B) YuTE™ W
(C) & W
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